A22675B5000101A-002 / B4

MORITEX

Vision Creating Value

NATLEIN)YILU X
MTL 2)—X

NATLEINYILY X MTL V=X BB EIFWEE, HUN
ESTXNET, AHBAZICIFERBOEFRWNVAEEERFIVEEEEE
TELTVWET, HREELLBFENN I GESDIZ, ZEAFICNT
KHPAEZEBFHESN, BFAEoE=EIE, WDOTEIEW R
[FT2E5FEELTEI,

1. EBURERERE - 188 ®IMIL B LUV T—E
2. RmEREE - 18 N N
3 AAELYF - 1B L R
4. LY - k1.8 18

23

a5 0.1mm x 2 #%

43

57 0.1mm x 14

82 0.2mm x 1 #

B o3> v hissEEmERE

MTL S —XRIFHERRICRBARERENEDESITHBINTOET A, BN
AT DIATDIRREIZESTITUO N IITENNEL, HREN+ DI RIEBTE
BROEREELABYET, BIHRBEHICWD ZAEL, BRBMEICINESTUOERNEG
AlE. BECECTRBEROY LIV TEFERALTITZVO NNV IOELERA#E
ToTLESW,

M58 XUk

F
}

RANFELDHRD (A)

(M3.31@) (M331&)

AERfEIEDRS (B
(M33 1)

X v bR

(ﬁﬁ AfEIEDHRD (B)

(M3,3 1@ )

V74 RIUMERRE *

« BEROEAT BIATIE
DETHIATTETH— (BI78)
ECEAKER,

¥ IS AT IATTH
75— (BIFT) THoTUL=A,

NANFEIEHRD B)

VAV VAN

ffEiEHR (B)

Weam) <R

IF57 IF82
(| WSV ONNIE E-E5
RARMEIEHZS BM33E) 8D 5.
Yy MESEEED. BMYNT,
HEROY LY VT EE->T, 75Ny I ERET 5,
YUY NESEERY 13,
. RARMELEHRY BM33E) CEET 5.,
TAZEEL A EREE
. RARRELEDHRS (AM33E) £EH5,

TATERLEDMETTRESE D,
NANMFELEH R (A)M3,3 {E ) £fFH D,

wro— @ onwn -

(M3.3 1) VAV: AN kA28 DAY
! 33 1E)

B Lo XomftitiaE

MTL S)—XOBAHFIZIE, FREDEEEEERVTRIIN, LY XDOMEEEM]
BB IELKRET 27202, HEZRYEB AU LERE - EELTHERL
TRELY,

%
v 7]

v g

v 7

i o

v 7 ..
i 7

v g

s

B>

€ © Se—>

€ 10 © >

& I R—ILRRATE

16

4xM4T 5

3

VIEWE®

—=

FOV IF A B C D

18 —
23 88.8

MTL-35 35 14.0 — 50 94.0
43 107.5
57 123.0
18 —
23 113.7
35 118.9

MTL-45 3 29.9 — 74.9 T304
57 147.9
82 303.5
18 —
23 148.6
35 153.9

MTL-55 3 26.0 55.9 109.9 1674
57 182.9
82 330.4
18 —
23 173.6
35 178.8

MTL-65 13 20.0 86.8 134.8 1923
57 207.8
82 366.3
18 —
23 2225
35 221.7

MTL-80 13 256.0 118.2 183.7 2417
57 265.7
82 405.2

MORITEX

Vision Creating Value

Bi-telecentric lens

Instruction Manual

Thank you for choosing bi-telecentric lens MTL series.

This instruction manual describes precautions and handling
procedures of the products.Before use of the products, be
sure to read this instruction manual to insure safety operation.
In addition, keep the instruction manual at hand for future
reference.

lAccessories

The followings are included in MTL series.
Table 1. MTL accessory Shim ring list

1. Instruction manual 1copy
2. MTL Test report 1copy IF Number of
shim ring

3. Hexagon wrench 1pc 18

4. Shimring See table1
23 0.1mm x 2pcs
35 ' P
43
57 0.1mm x Tpc
82 0.2mm x 1pc

Flange back &
camera rotation angle adjustment

Optimized adjustment are provided to all MTL series before
shipment,Depends on the condition of your camera, expected
performance may not be achieved due to the difference of flange
back.Users may adjust the flange back using attached shim ring if
needed when measured W.D. is does not meet the criteria.

C/P Mount
M58 Mount
o Hexagon socket
AN ead screws(A) @ Hexagon socket
(M3,3pcs) ead screws(A

(M3,3pcs)

Hexa%on socket
(M3,3pcs)

Mount adapter

Hexagon socket
ead screws(B

(M3,3pcs)

IF18C/IF23/IF35 IF43

Hexagon socket head screws(B)
V74 Mount adapter *

+1.Choose suitable camera adpter
for your camera (sold separately)
+2.Camera rotation adjustment
shall be done by camera adapter
(sold separately)

Hexagon socket head screws(B) ~ Mount adapter,

(M3,3pcs)
IF57 IF82

@ Flange back adjustment procedure
Loosen hexagon socket head screws. (B)(M3,3pcs)

Loosen and remove lens tube of mount

Adjust flange back using attached shim ring

Install mount

Fix it with hexagon socket head screws (B)(M3,3pcs)

arwn=

@ Camera rotation angle adjustment
1. Loosen hexagon socket head set screws (A)(M3,3pcs)
2. Rotate camera at desired angle
3.  Tighten hexagon socket set screws(A)(M3,3pcs)

(M3,3pcs) Hexagon socket
ead screws(A)
(M3,3pcs)

l For the products installation

Please refer below illustration to install MTL series. Be sure to hold
and fix more than two locations of lens barrel as much as possible
to secure the continuously performance correctly.

//

// /|

// /|

// /

// ol /

i 7 .l
// /

// V.

//

EBA

& (© P(E D
N 10 = “

<& Hold prohibited area

16

4xM4T 5

3 VIEWE®
—=
Fov IF A B C D
18 —
23 88.8
MTL-35 35 14.0 — 50 94.0
43 107.5
57 123.0
18 —
23 1137
35 118.9
MTL-45 23 29.9 — 74.9 1304
57 1479
82 303.6
18 —
23 148.6
35 153.9
MTL-55 3 25.0 569 109.9 1674
57 182.9
82 330.4
18 —
23 173.6
35 178.8
MTL-65 13 20.0 85.8 134.8 1923
57 207.8
82 366.3
18 —
23 2225
35 227.7
MTL-80 13 250 118.2 183.7 5412
57 265.7
82 405.2




A22675B5000101A-002 / B4

MORITEX

Vision Creating Value

W aze 00 55 Sk
5 F§ % BA B

RIS MTL 25 SERUR /0 iR Sk UK A 0V BR AR . IR AR hic
B e ERTAURERERRS
AT BEERREAARR , IBERRFZRIE RS . HiXxR,

IBHERT .

b &
MTL 25150 T4
1 EARES 1% £ 1. MTLERAHEE—
2. WBEER 1= - e
3. ABERE PN
4. ZE sm@E 1 18
23
35 0.1lmmx2#®
43
57 0.Immx1#
82 0.2mmx 1 #

B ZZERAENiERAERE

MTL 250 IR KERS , RIEEFERAEN , Z=ESKEL®L -
BUEFmIVMEES AT INARE .

FRZERNE WD, IR BRINEEN - REFEIEHEGNER B
FOAZ IR TIRELARIMEE .

® M58 &0
~ ;/_\ﬂ?lﬁ]ﬁﬁﬁgém) @ i R )
NATLEIEZ L (A
- . rafg\) M337)

(M3,31)

M331)
IF18/1F23/IF35 IF43

NAFLEIEIRL (B)
TEEE .
oL B IREE B "ﬂ’ﬂ@’tﬁf—i Al
EREHESSE( BIME ) : o
2. {EA et B AR = >
e ( BORSR ) AiFE

\ﬁﬂ?LlﬁlfiﬂEgﬁ (B)

(M3,34)

IF57 IF82
@ L =R EIR T

1. WARAEALERE B)M33 1) -

2. MAEOEESZE - BIETHRE.

3. ERRENZEERBEE=IE.

4. TEREOEERS.

5. RAAAELER (B)(M33 1) EE.
@BHLIER: fERIIE

1 AREALERE (A)(M3,3 D).
2. BN R R IEMRANTE
3. FERBALER A)M33 D).

BN ==nxE

ZHE MTL 2SI miy , B ABEMR N CRSEE . A 7R St EfR AR
SLTHEE , RERS  BIERENA M LNUEZEHER .

%
v %
v 7
v 7
v M
v 7 .l
v g
v g
g%
EB
€E—B—E=)
>
A
-y
& ! EERMAIFERITERS
FOV IF A B C D
18 —
23 88.8
MTL-35 35 14.0 — 50 94.0
43 107.5
57 123.0
18 —
23 1137
35 118.9
MTL-45 3 29.9 — 74.9 T304
57 1479
82 3035
18 —
23 148.6
35 153.9
MTL-55 3 25.0 55.9 109.9 674
57 1829
82 330.4
18 —
23 173.6
35 178.8
MTL-65 3 20.0 85.8 134.8 1923
57 207.8
82 366.3
18 —
23 222.5
35 227.7
MTL-80 3 25.0 118.2 183.7 2472
57 265.7
82 405.2

BEWEDLEE - - -

#XEHEUTVIR

ERNZEED

T 351-0024 HERAEHRK 3-13-45

TEL 048-218-2534 FAX 048-462-6714
moritex.sales@moritex.com WWW.moritex.co.jp

For inquiry, please contact to:

MORITEX Corporation

3-13-45, Senzui, Asaka-shi, Saitama 351-0024 Japan

Phone +81-(0)48-218-2546 FAX +81-(0)48-462-6713
moritex.sales@moritex.com www.moritex.co.jp

www.moritex.com

MORITEX North America, Inc.

6862 Santa Teresa Blvd. San Jose, CA 95119 USA

Phone +1-(0)408-363-2100 FAX +1-(0)408-363-9980
machine.vision@moritex.com www.moritex.com

MORITEX Asia Pacific Pte. Ltd.

60 Paya Lebar Road #06-31, Singapore 409051

Phone +65-(0)6898-0835 FAX +65-(0)6898-0836
sales.AP@moritex.com www.moritex.com

MORITEX Europe representative office
Muhlbachstr. 20 82229 Seefeld, Germany
sales.eu@moritex.com www.moritex.com

MORITEX Technologies (Shenzhen) Co., Ltd.

No.20, Guiyue Road, Daping Village, Guanlan, Longhua New District,
Shenzhen, 518110 China

Phone +86-(0)755-2798-8282 FAX +86-(0)755-2798-8575
sales.china@moritex.com www.moritex.com

&

FmERE (F ) BRAT 3

BiZm 518110 F Y B EFRXVBHB AT XERRE 20 5
E31E 0755-2798-8282 f£&H 0755-2798-8575




